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(A) s2ll o A1 « uzdl (B) 524l A, f5ul-
(C) Me™ld ldl (D) a%s [l €ld
(83) Al s A0l 9 ?
(A) sel+ G = sdl[¥ (B) 4 + &l = idlel
(C) i, + VMBI = =AMl (D) Alg + HLE6IR = ARUIGR

(84) (ARl GRAd ULl A AUl Sl dd dAlsy 53 69 7
(A) 281 58] & Ul su124 viiclaL Al
(B) HU'RLY, il HIe ¢ A9 ?
(C) 61t % draaiiet (7) A4 Asdl el ?
(D) “olle Al 6l AU

(85) vilZl waell sul aoe-l 9 ?

(A) sMaA-R (B) BiaL (C) sl (D)
(86) Find the different word from following words.

(A) retrieve (B) rescue (C) salvage (D) evade
(87) Neither you nor your friend was sick ................... ?

(Put a suitable question tag choosing from the given options below.)

(A) Wasn’the ? (B) Was he ? (C) Weren’tthey ? (D) Were they ?
(88) If Mr. Shah had saved money earlier, he .................. anew car.

(A) bought (B) have had bought

(C) will have bought (D) would have bought

(89) Shruti said to Neha, “You are my best friend now.” - find correct indirect speech.
(A) Shruti told Neha the she was her best friend then.
(B) Shruti told Neha that she was her best friend now.
(C) Shruti told Neha that she was her best friend then.
(D) Shruti said Neha that she is her best friend then.

(90) The lightning has a tongue of flame. Identify the figure of speech used in the sentence.

(A) Irony (B) Personification
(C) Metaphor (D) Simile
(91) Dr. Harris welcomed the members of the committee and wenton................ the subject of the meeting.
Put Proper verb form.
(A) introduced (B) introducing
(C) introduces (D) to introduce

MATHS (A) (12/24)



(92) Find out similar word for : Assault
(A) Defence (B) Beating (C) Shooting (D) Attack

(93) Select the correct sentence.
(A) Unless you worked hard, you will fail.
(B) Unless you don’t work hard, you will fail.
(C) Unless you work hard, you will fail.
(D) Unless you will work hard, you will fail.

(94) Intelligent.................... he is, he could not pass that exam.
(A) though (B) however (C) yet (D) as

(95) Parth filled ten litres of petrol to go to Ahmedabad. Select the most appropriate option to get the

underlined word as answer.

(A) How much petrol Parth filled to go to Ahmedabad ?
(B) How much petrol did Parth filled to go to Ahmedabad ?
(C) How much petrol did Parth fill to go to Ahmedabad ?
(D) How much petrol Parth fill to go to Ahmedabad ?

(96) Let her kill the mouse. Select the correct passive sentence.
(A) The mouse was killed by her.
(B) Let the mouse be killed by her.
(C) Let the mouse is killed by her.
(D) Let her kill the mouse.

(97) No sooner did I reach the college ..............c......... .
(Select correct option to complete the sentence)
(A) when it started to rain. (B) and it started to rain.
(C) than it started to rain. (D) after it started to rain.

(98) Neither of your friend will come. Identify the Pronoun.

(A) Distributive (B) Demonstrative

(C) Indefinite (D) Reciprocal
(99) Many times he helps those......................... he doesn’t know.

(A)who (B) which (C) what (D) whom
(100) If you ......eeevvennnnnee. the rumour, you ...........cccceue.. .

(A) had spread, would have been arrested.
(B) had spread, would have arrested

(C) had spreaded, would have been arrested
(D) had spreaded, could have arrested
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(101) 2181-{l A seuni-dl Agilas (st su1 ool sdl ?

(A) %541% ole (B) U1 2R

(C) %elel A ) FIERRUEES
(102) 129 HouaR J Al adi 2idA9w A3 auil {lEvilnl el A6 vyl sedl iy ?

(A)1 (B)2 ©)3 (D)4
(103) (121 U4l 53 Qe 012 ?

(A) AHLA LR EHIUL AL 2R 1Y, %, (B) AMLL ALBL SUIRS % AR YL S1Y 69,

(C) AR AL SUIY UM 218 A S1Y. (D) AHLA LR $4124 UL YL L % SlY.
(104) Alcas 1018 R (L Guoatel g4l

(A) Al 28 % Sy (B) ¥irid 218l % 1Y,

(C) Al ¥ eld 8L &l U3, (D) Ald 2L A % S,
(105) GLOL8L A 21l B HI2 5412 A-B 24l B-A 41 212 21y, ?

(A) A 17l B URRUR 2AE2L 8L &1, (B) A ¥inl B AR 28 1Y

(C) A 21l B AHIA O18L 81U, (D) A 1 B USL 516 a5 vl o191 iy
(106) ol (Relation) 24 (A8, (function) 12«11 U4l sy [t w124 €9 ?

(A) 835 ol vl g3l [ABU €9, (B) &5 (A8 21 SHAL 215 A6l 9.

(C) 1S5 [Akty 21 dolt A yRL Sly. (D) 825 Aoit s34 [A8Y L % 1A,
(107) 2t [QBU M12 AU o8l i [l oL .. .. ...... % 1Y,

(A) AHIA 218 % Sl

(B) [A2dl12 2181 21 AUzl LIl 2A[B218L % Sl
(C) AU 8L 3L [Ac1R 2121l GRAd GuaLel o ey

(D) AHIA 2181 . % 1.
(108) [A8Y f:Z—Z; f(x)=x+5,Vx€ZAMSs ........... (B 69,

(A) 25 - 218 (B) 34 (C) Alud (D) I
(109) MxeR M2, | sinx | ............ 1% Sl

(A)= (B)< ©)= (D)>
(110) Cos (3x) = .eeevevennee

(A) 1—sin” (3x) (B) 1 — cos (6x)

(C) 4cos (x) — 3cos’ (%) (D) 4cos’ (x) — 3cos (x)

(111) G252 vl Z, 24 Z) e {12 U4 s i L el ab ?
(A)Z,>Z, B)Z,=Z,

=\ N Zl \ ' H
(C)Z, - Z,=%15 drd[As 2wl (D) 7,25 A5 vl (i 2, #0)
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(112) KRISHNA 216%+1l YOUaR1 AL UdRlaldd Gualol 5319 4 youaiain e 3 2ielRd deal

91681 oi-lcl s ?

(A) 49 (B) 16 (C) 2401 (D) 1024
(113) 4 cie, 3 vlow ¢4 2 dletl g3l 5@ Sedl Uslz sAaHl dlsdl sty ?

(A) 1260 (B) 2160 (C) 6210 (D) 6120
(114) 12 9 sl yrilad- sal R 212 50l sedl dvaiuil or-udl asiy ?

(A) 3204 (B) 3024 (C) 2034 (D) 4203
(115) ado Ui [t n (n > 2) [Bigil 422 32¢l [(t il el asiy ?

(A)n! B)n,

(© "erd (D) (1)
(116) (n+ 2)9 Al RzdReMH x -l AUSIABLS ...l 6.

(A) 144 (B) 125 (C) 18 (D) 181
(117) (n+ 1) <Ll Rrd2i <l USRS 6 Sl cdln G oA .......... 6.

(A)8 (B) 4 (€) 12 (D) 24
(118) 121201 a2l 2431 yailsiedl A0 ... ............ 21y,

(A) 1010 (B) 9999 (C) 1111 (D) 8976

~ - . . 10 -

(119) ¥x2eldr 2ell 5,25, 125, .......... q 52 ue s ua?

(A) 284 (B) 9 (ORIE] (D) ey
(120) 280l /3,3,34/3,9, -vevnnen. o Sealy ue 729 69l ?

(A) ey, (B) 2=BURY (C)oURY (D) dy

(121) 6L AH el o020 42241 vl HLLL% Sl 2 A ULl 205 vl a1 1/2 Sl dl o{ley vl el
9 8ol ?
-1
(A)2 (B)3 ©) > (D)-3

(122) (<1, 3) ¥l (2, 4) Bigainiall vz adl v (4, 6) 249 (x, 12) Bigaiiell uaiz adl 2 dot gl dl

el BHd ..., .. Sl
(A)2 (B)4 C)6 (D)8
(123) 0L 2x + 3y =5 el y-2Ac: vis ............ €.
3 5 2 5
(A) 5 (B) 3 ©) 3 (D) 5
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(124) 375 (1, 1) A4 Bl (7 2153 €ld ddl adog 2slse ... €.

(A) x> +y*—2x—2y=0 (B) x> +y* —4x—4y=0

O +y —x—y+1=0 D) x> +y* +x+y—1=0
(125) GUadd 4x*+ 9y* = 36 ~{l BLs UGl @ ........... 8.

(A) (+/3,0) (B)(0,+/3) (©) (+/5,0 (D) (0,45)
(126) B A(1,-3,4) B (-4, 1,2) AL AB=............. ALY

(A) 5.3 2154 (B) 3./5 254 (C) 45 2154 (D) 15 2154

O x?—x+5
(127) th; 1 S
3 —7 -9 -11

(A) 3 (B) > ©) > D) —
(128) R f(x) = (@ +b)> S A f ()= eeererennn.. 2,

(A) 4a’x> + 4abx (B) 4ax + 4abx’?

(C) 2ax*+ 2b (D) 4ax (x + b)
(129) 215534 B2l AdlAMIAALP(A) ............ % 1Y,

(A)> 1 (B)>1 ©)<1 (D)=1
(130) x =il etcaltofl 814l e 3 wll [AedRRHl X% L ASARLS ... Q.

(A) e* (B) 2¢° (C) 3¢* (D) 6¢°

T

4
(131) [sin(2x)dr= e
0

1 3 1
(A) 5 B) 35 ©) NG (D) 242
132) [Asa ulseL, x ﬁ+X(dy)2— (dy)—Orﬂ <

(132) lAsA A4S, ydx2 dr y ac ) Sséll(orda) ............ €9.

(A)1 (B)2 ©)3 (D)4

3 /1 N\

(133) [asa u+lsza, %Z +y?+ COSL%J= 0 qulRMeL............. 6.

(A) L4 (B) 1 (C) v Ad (D)3
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(134) Garm[Gigmiall wuR adl yreusi-l deldsd @Qsa aslse ... £,
d d
(A) xzay+y=0 (B)y=xay
dx dy
X=vy— =2
©) *=¥gy (D) o
(135) aH sail-l v [Asa qHlsed 0Haa3u ... 6.
Y 4
(A) j—z+Py =Q; %UL P ¥l Q M2 x wll 2UAL 21A01 [QHYL 9.
(B) %+Py= Q; UL P 2 Q w10 [ABAL 69,
(©) %+Py= Q; UL P ot Q Hint y AL [Q8UL 9.
(D) j—i’+Py= Q; UL P el Q Vi x vl A%l y AL [AB) 69,

(136) BruRmelly Az el vasiol R Hi udls ulBa dot did ddl alza
(B) 9= Aleal

1
(D) ulzal [ﬁ N —3)

(A) 2154 A

©)alza (1,1, 1).

(137) A8 1—2]+3k 2t 3i—2j+k 92U vBL ............

(A) cos_l( % ) (B) cos_l( % )

(©) cos_l( % ) (D) cos_l(

NN N ~N ~N N ~ 0 0 ~N 0 NN
(138) %L $LS UL /2 X— 181, Y— 248 il Z— 28 U1 259 60 , 90 il 120 HIUrAL VLI oirlld dl il

vl /AL [RssSIUSA ... Y.

1 1) ( 1 —J?)
@ [31.3) ® (103

© 39

-1
(A) + (a®+b*+c?) 2

(©)+ (az ) +Cz)3/2
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(139) 2 vttt [E55120157 £, m, n €14 24 [R50 a, b, ¢ €ld dl

/

a

(B) + (a2+b2+c2)1/2

(D) + (az ) +Cz)*3/2



(140) % UHAAAL x—18L, A8 el -8 UR VALl 2UrsH 2, 3 2 4 Sl d AHded a5 ...,

€.
(A)2x+3y+4z=0 (B) 6x +4y+3z—-12=0
(C)2x+3y+4z=12 (D)6x+4y+3z=0
(141) 41M18lA (a, 0, 0), (0, b, 0) 247l (0, 0, ¢) Hi Vel AMded A5 . ............ £,
(A) bex + cay + abz = abe (B) g+%+§=1
(C)x+y+z—abc=0 (D)ax+by+cz=0
(142) 515 UL 2181 A AL 8Ld2LRL P(A) M12 (1AL U4l sy [Qe a1 o ?
(A) P(A) 51134 velorRL A o 1A, (B) P(A) vuelarst el aus 69,
(C) P(A) 215151 2181 o Sl (D) P(A) €32l vielorel o €l
(143) 55211541 Hie @daldl [RuM (Idempotent law) AL €9 ?
(A) dslad (B) 4121218 (C) AMd duad (D) Y5018
(144) % A, B, 241 C Aid xRsd 2 €l dl, n (AXBXC)=........... ALY,
(A) 0 (31) (B)n (AUBUC)
(C)n(A).n(B).n (C) (D)n (ANBNC)
(145) A0 [ABUAL [AeclR AR EHAL ............ % 1.
INEEEINI (B) vilell a1aL
(C) »ivid 21l (D) V5151 2181 4 Sy ddl Ald 218l
(146) 6L [A8AL f:A—>R 1l g B—>RHI2 f+g, f—g ot fglvdlRd dadiHie .......... Sld, o AN
(A)AUB=R (B) A=B
(C)A#B (D)ANB=0
(147) {121 U4l 54 QR vidR1e (0, ) Hi 2AAAA D ?
(A)sin (B) cos (C)tan (D) cosec
(148) Yid1d [0, 271] 1l uH1s8L cosx = % 1L GsaaeL............ 8.
p{E ozl o o) {0.7}
A 17373 6’6 3°3 :
(149) % sinx = % %41 x 612 AL dll sin (g) ABHA........... Ay,
4-+/15 44++/15
(A) s (B) s
8 8
4 8
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2023

(150) () =.ceeeiii.... Al piUl ;= /]

(A)i B)—i ©)1 (D)-1
(I51)A5AVUL 7= T3 AvALALSIRUS .....eee €.

T 21 4 4T

(A) g (B) 3 ©) 3 (D) 5
(152)31+41=.......... A1,

(A) 5! (B) 7! (C) 6! (D) 5 x 3!
(153)4 C,= C.elddl C =........... 21y,

(A) 55 (B) 90 (C) 45 (D) 110
(154) (a+ b)1234 AL [Qcemi g velldval ... Sl 6,

(A) 1234 (B) 1235 (C) 1236 (D) 1237
(155) [Bigil (1, -2) 27 (<2, DMl v adl, Jend a+lse ... ... 9.

(A)x+y+1=0 B)—x+y—-1=0

C)x-y=1 D)x+y-1=0
(156)ad x® +y* —4x -8y —45=0 3% ........... 9.

(A)(4,2) (B) (2, 4

©) 4,-2) D) (=2,-4)
(157) uRady y? = 8x «lL wiei[™Hdo{l donsS .. .......... ASH Y,

(A)8 (B)4 (C) 442 (D) 242
(158) Guadd 4x + 9y* =36 L Heurtal dousS ............ W5 QY.

(A) 16 (B)9 (C)6 (D) 36
(159) 2Afacdd y> — 16x> =16 (L Gwsdl ............ 8.

J17 4 4 J17

(A~ B) /7 © /17 (D) ==~
(160) seautAL (Ul ]y {1241 W5l su1 o8l iie{lad HidaiHi 219 € ?

(A) 541 oled (B) [&o-lc

(C) oele A (D) AUAL

(161) % Q8 f:x — yd uldfaBa gy —> x &ld dl {1241 Usl 53 11 ?

(A) fog=Ix
(©) fog=1ly

(162) tan [QBu-l MgadL8L . .............

(A)R
(C)R— {(2k + 1)% /keZ)

MATHS (A)

(B) g f=1ly
(D) fog=gof

B)R-(-1,1)

(D)R - {kr/keZ}
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(163) Q8% cot ' "L Mzu @ ........... 8.

(A)[-1,1] (B)R
(C)R - {kr/keZ} (D)R - {(2k+ 1) g/keZ}
(164) s AR M 2S ... 9.

(A) AR AUBLS €9 el 618l AL 169,

(B) 2122 4815 & %L otal w6l 0 (94) 8.

(C) A1 ABLS & Feil 2424 A5l Aol 18, w12 GUSlrl Aol 0 (3) 8.
(D) dotlR ARLS & Hell dHiM 8251 0 (9w1) &

(165) % A i m xn s&l-l AR5 eld dl 519 SRS BHI2 A+ Bdl o dlvdlRd 9 .......... Sy,
(A) B sLSusL sa1l-il 91 2818 (B) B 515Ul sali-l 214 2818
(C) B 515U $&1-LL 54 2A[8Ls (D) BU8l m x n 52l 2315

(166) % AR5 A, mxn s&lL-il Sld i % 519 ARS B 412 ABRUSIR dlvdlRd €lddl ..........
(A) 285 B Ul m X n $&l1-l €1 (B) 2815 B ¥ n x p s8ll-il Sl
(C) A% B 21t xm sal-dl 28Ls Slu (t2n) (D) 28Ls B 2isH ™S €ld

(167) [Rznas>............ 6.
(A) v 2llsas(l (B) dlRct[aAs/is2 vl [F3usL 6.
C) s A5 . (D) ¥5 (A ust-AlL 2lBLs 9.

NN 12 3 at Y
(168) % sllRLs A=[;1 g 8) Sl dl|A|= e

(A)23 (B) 0 (g1r4) €)1 (D)5

(169) 2 uaH »ua [Ranasdl uddl 214 ofle sl viealoiedl 219 uRols oflog i Al el
ealoied] s3aMl 1A dl RSl Yl g 53Ul ?

(A) 4 ol (3. (B) 4 61+ 24l
(C) Y& 2134 9l (D) Hed AAARAA A1Y.,
(170) %L A 21 3 x 3 s&l-L SU[8Ls €ld vt k 5185 AR AlRAlAS A0S Sl dl, [KA|=.......... ALY,
3 3 3.3
(A) KA (B)K |A (O K A (D) KA

(171) 121 Wbl sy, (e 012 €9 ?
(A) tan [A8A Al AHA U AL YR Add €9,
(B) cot [A8Y dril AHA UL YR Ul €9,
(C) sin (A8 drll A2 UBA YL UR Add 9.
(D) cosec [A8Y el AHA UBAIRL YR AUl 9.

(172) 2L U8l 5y [Qrne A12f 9 ?
(A) dsa-la [aBy dhsu [Qsadly ela . (B) [Asa-dla [Qhy dra dsa-dla gl g,
(C) A fix) = ¢ Asala Aell. (xeR) (D) [@Q8Y fix) = x| [asa-dla 9. (xeR)
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-~ N ~ d

(173) %A x =a sin® -l y=a cosO €ld dl a}’ ......... YLy,

(A) cotO (B) —tanO (C) —cotO (D) tan©
(174) Q8% fix) =7 x -3 A RYU ............ [aBu 9.

(A) et Ad Eeg, (B) %d ¥ld aug

(C) elaalla (D) 82d

C 2 2 N : NOAD L e cC.N -~

(175)agilx +y =4+ (2,0) [Big elRai yalslalon .. ... ........ £9.

(A) 4= (B)3 (C) 2 [ ArdlRAd (D) -2
(176) R U vl ol S= {(a,b)/a<b} i .............. oit Ayl

(A) AR (B) A4l

(C)u3ulRd (D) 2aAlAS A UIURd

N 2 ~

(177) Q84 £ R > R, fix)=x +1,xER .............. )

(A) 215 - 21569, (B) 215 - 915 2], uig Al 9.

(C) AU 8. (D) 215 - 215 2l A 2 vl 2l
(178) [A8Y f21e g o Al [¥d [A8Y fog ws-is cludlABag........... ALY,

INEI (B) 1% - w1

(C) 2As - 215 (D) VL5 - 5 vt Al
(179) A R, 2 R 2181 A Hi 2 2ieidl el dl R, AR W2 a4l s g o 7

(A) HloLRAALAS Aol o ALY, (B) 12 Al 2ol o w1y,

(C) AU Ao 21y, (D) HIoL URU R oit o 21y,

1 -

(180) e O | Bua gy ?

(A)x B¢ (©log" (D)1
(181) “[asf@cl GUALPL” HsHHL vUAIHL e USIRL AL (Al 5 uy s 9 ?

(A) 8dls (B) [Adanadis-

(C) [AEl[&d vieu (D) u2ldil
(182) {l2A-tmiell ¢ ouotd “(Aeuellil ouBicaurotdl 582 527 Al &g e AU Adt-uRad- 2l ?

(A) 242 A8 (B) AR0LdL A8

(C) Alandlsa 52 (D) A=l 5381 52

(183) Al Brseufadl e sl saMl Al Houl ?
(A) 4R (B) ™1 (C) x3[s1 (D) Yoo\

(184) “Y0tL ALY SU5H AUUAAL SGAUHL HVUA 5 AR GLOLdLAL AHLA2 214 69 7
(A) &aRd uRad, ugt A qedist  (B)Uglr, Heuis ¢4 [Ba
(©) [Ban, AalRd wRad- 244 uglt (D) HeuisH, (2o 244 alRid uRad+

MATHS (A) (21/24)



(185) [Qeull2Ail adH - uRad-il Bar 3 st slacuAl amid il sandsii 4l ?

(A) BulcHs &t (B) 1-lloU[As &t
(C) HrllHine aot (D) ellHLcH S &L
(186) “Alds” «l Aseu~l e a1 qo(ui [Aats dly sul A1l GualoL s ?
(A) 21441 B3¢ (B) Y5538 - Ado(ls9
(C) 214 - [Ha134A, (D)aIY
(187) 545 uglaui alBid [Riats w64 [Qenll ot 21 vidlealsl st oo 9 ?
(A) gl (B) Ui% %2 (C) el (D) L2
(188) UlH-AHAdr{l ASEUAL UL 591, HAIUA-2A YA HI2 A(HE 5UL A& RS ALkl GUULoL s2200 7
(A) 2ALAVA AL (B) BruRMigieals Altx
(C) 224-2U1ed A4 (D) R ofL$
(189) ArZlY dBld [zau-{l Gora(l tizdMi sul [2ad sl U 9 ?
(A) 28 52115 (B) 14 11 (C) 22 %l (D) 22 R0
(190) GuALRLMS s1A-{l A501dL UR Ale] 2A5125 URe10 Ul .
(A) 1AL AH2U0 (B) [euell{l qorouSe sieidl 212l sl
() [aeuelld apestd (D) Gualcs el Al
(191) ALl At 21q515 3 2AL(l wstd ?
(A) 228U A4 (B) {3 (C) & AHA (D) @vist 414
(192) 21l81d [Auy (e 51280 (el ad uRadq- gf s e ?
(A) [Fams ye (B) uizglas yeu
(C)-lds yeu (D) GuAIBidL 4eu
(193) U8t [anumi Y3l dui 3 [Qeu uedl 141240 A0 adal [Fefua sul il iovaiHi »id 69 ?
(A) [Fum (B) A6t (C) U1y (D) Rigid
(194) 21[81dl (a1t M1 o= ogH UT el Sgiiel ad(lsi “dlofls01” sul ot 2419 ¢ ?
(A) 2l-lcHs (B) MlAlcH S
(C) Buicms (D) 1-lwlRs
(195) AsettL Yol Gualol s3] [Qanell, Aoilhd gen Ugii-il G3a Hnd d dAl8d gl sSugld o ?
(A) dllEs 2A[301% (B) 45538 (C) 21213~ (D) [Fo1m+,
(196) 215 (31815 112 A(LLIML AASIEAL 2 2LH[ARIA ARAL HI2 Al2] 2AS1RS URo1 53 © 7
(A) ugrdal (B) [Qene{l24L 18 {s{l
(C) LS 2141 (D) AHY Ul aolvis udal
(197) 21l81dl [amuHi Uigse i el aldlaeml gAMLl G3e AlHdld 28 s1d 9. - 241 [Qai- 5181
21 89 ?
(A) Baul2s (B) Reaxu- (C) WIS (D) 6lalLs
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(198) ¢i[A[arl veaiun Hi2 ALl v1u515 Ugld 596 ?

(A) [asawgl (B) 241014
(C) cUlvy- (D) [Ro11+
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